This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 12 - Airdrie South

4 1,204

6,015

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Michael Joseph COYLE	Scottish National Party (SNP)	1,847
Paul DI MASCIO	Scottish National Party (SNP)	1,015
Michael MCBRIDE	Scottish Labour Party	1,386
Ian MCNEIL	Scottish Labour Party	739
Sandy WATSON	Scottish Conservative and Unionist	1,028
	Total	6,015

Candidate Michael Joseph COYLE Elected with 1,847 votes, being in excess of the quota of 1,204 Candidate Michael MCBRIDE Elected with 1,386 votes, being in excess of the quota of 1,204

This report contains the transfers results.

Stage 2 - Surplus of Michael Joseph COYLE

643.00000

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Paul DI MASCIO	1,627	0.34813	566.40751
Transfer to Ian MCNEIL	50	0.34813	17.40650
Transfer to Sandy WATSON	28	0.34813	9.74764
No further preference Not transferred due to rounding	142	0.34813	49.43446 0.00389
	Total		643.00000

This report contains the transfers results.

Stage 3 - Surplus of Paul DI MASCIO

377.40751

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ian MCNEIL	364	0.23865	86.86860
Transfer to Sandy WATSON	47	0.23865	11.21655
Transfer to Ian MCNEIL	569	0.08308	47.27252
Transfer to Sandy WATSON	68	0.08308	5.64944
No further preference	604	0.23865	144.14460
No further preference	990	0.08308	82.24920
Not transferred due to rounding			0.00660
	Total		377.40751

This report contains the transfers results.

Stage 4 - Surplus of Michael MCBRIDE

182.00000

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ian MCNEIL	1,242	0.13131	163.08702
Transfer to Sandy WATSON	47	0.13131	6.17157
No further preference	97	0.13131	12.73707
Not transferred due to rounding			0.00434
	Total		182.00000

This report contains the transfers results.

Stage 5 - Exclusion of Ian MCNEIL

1,053.63464

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Sandy WATSON	382	1.00000	382.00000
Transfer to Sandy WATSON	17	0.34813	5.91821
Transfer to Sandy WATSON	206	0.23865	49.16190
Transfer to Sandy WATSON	502	0.13131	65.91762
Transfer to Sandy WATSON	343	0.08308	28.49644
No further preference	357	1.00000	357.00000
No further preference	33	0.34813	11.48829
No further preference	158	0.23865	37.70670
No further preference	740	0.13131	97.16940
No further preference	226	0.08308	18.77608
Not transferred due to rounding			0.00000
	Total		1,053.63464

 $Report\ Name:\ Transfers_V0001_Ward-12---Airdrie-South_06052022_160811.pdf\ Created:\ 06-5-2022\ 16:08:11-1006052022-160811.pdf\ Created:\ 06-5-2022\ 16:08:08:11-1006052022-160811.pdf\ Created:\ 06-5-2022\ 16:08:11-1006052022-160811.pdf\ Created:\ 06-5-2022\ 16:08:11-100605202-160811.pdf\ Created:\ 06-5-2022\ 16:08:11-1006052-160811.pdf\ Created:$